L VR - T+ (097 - & & Ash

®D 3.05 ® 3.15 ® 3.25 @ 3.35 ® 3.45



4

o] B2t
V3-2

il

FrelsehE?

@ 4V3+8 @ -4vV3+8 ® -4vV3-8
@ -43+2 B -4v3-2



@ -(y+3)(a+4)
® da(y-3)
® (y=3)(a+4)

@ (y+3)(a+4)
@ (y-3)(a-4)



® —+0.01



5.

the S2 oA D 77k $13]8hs R4

D 345 @ 242 ® 642 @ 442



6. x—47F5F A x2 4 ax+40, 3x2 - 10x+ b 9 FEQ Q14 o,
a-b o & F5HH?

@D 3 @ 6 3 0 @ -3 B —6



o

(o]
e o rr 2

=N N R |
o 0 9

]

@D 2

=F hekhe
CEY () Az x+/5

3t & o 2]
ot Ao =2 veh '
? x4+2 B x4+ 3

2
2 H
(&4)) $+13 )
‘0
~T+5-




S 2017 o] AAtE THASH 317] 915te] o] & 5= Al 4=
H}Eﬂl el 22? (P, a, b, ¢, d = 2AAF)

D (a-0)? @ (a+b)?
® (ax+b)(cx+d) @ (a+b)(a-b)
® (x+a)(x-0b)



Ot

@ Vil-3> Vil- V8

@® 4> V3+2
® 3> V13

B 24+ V2>2+ 13



10. V3x Vox(-3V2)x2V5=aVb & W, a-b 2] 3H2?

D =36 ® =30 B —-24 @ 94 B 36



11. o2 & 4y R 4 7|9} £2F v F o] thE shb=?

O V72 @ 720 ® /7200000
@ +0.0072 ® +0.072



12, 2 4 px+q 7L AAFA 0] H7] A%t p, g o] TA ALY

@q—g 2 @qp;2 ® q —g
O S



13. 2 =3
;—CL)’ 31]:{?[[1] mﬂ-}q—oﬂ 27} 5 e Jpg Zhe = 71g]

@D 10 @ 13 A 16 @ 19 3 29



2 gol7}
2 9l ZAAgolet, L0 o o]
Foo V2 y
%)\T:. o

b
© v2-2 @ V2-1

@ 2- 12 G 3



&

rr



